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2 0OO0O0O

060a 0000000000 (1)

Ceo 0000000 [deg.]

No. | OO 1 2 3 4
1 | A-1 || 106.0 | 106.0 | 106.0 | 106.0
2 | A2 || 52.0 | 52.0 | 52.0 | 52.0
3 | B-1 || 106.0 | 52.0 | 52.0 | 106.0
4 | B-2 | 52.0 |106.0 | 106.0 | 52.0
5 | C-1 || 106.0 | 106.0 | 52.0 | 52.0
6 | C-2 || 52.0 | 52.0 | 106.0 | 106.0
7 | D-1 || 106.0 | 52.0 | 106.0 | 52.0
8§ | D-2 || 52.0 | 106.0 | 52.0 | 106.0
9 | E-1 | 52.0 | 106.0 | 106.0 | 106.0
10 | E-2 || 106.0 | 52.0 | 52.0 | 52.0
11 | F-1 | 106.0 | 52.0 | 106.0 | 106.0
12 | F-2 || 52.0 | 106.0 | 52.0 | 52.0
13 | G-1 || 106.0 | 106.0 | 52.0 | 106.0
14 | G-2 || 52.0 | 52.0 | 106.0 | 52.0
15 | H-1 || 106.0 | 106.0 | 106.0 | 52.0
16 | H-2 || 52.0 | 52.0 | 52.0 | 106.0

19



2 0OO0O0O 20

view point @

unit cell

C60 molecure

HEBROE IRt

tructure A-1  structure A-2  structure B-1  structure B-2  structure C-1  structure C-2

e T T

tructure D-1  structure D-2  structure E-1  structure E-2  structure F-1  structure F-2

— initial angle ——
o O O [ (O [] :106.0 deg.
® B : 520deg.

tructure G-1 structure G-2  structure H-1  structure H-2

0 160 ao 0000000000 (1)0000 wnitcell0O Ceo0DOODOOODO 16

0160000000 6000000 A-10H-20 wnitecell 0 ZO00O000DO0OD0OO
O00 16000000 OO0 ¢ JOOODOD Z=00000000 CeeOODODOO
O 000 epO0Ogooon Z:%QODDDDDDD Ceo0DODODODODOOOe O
OO0 w J000 CeOOOOD0OOODODO 106.0° OO00OD0 OO0 O OOOO CgOO
OO0O00oOgoo 52.00 0000

16 /home2/students/yatabe/tex/fig/structure_l.eps,structure_1_A_H.eps



2 0OO0O0O

070 2a, 0000000000 (2)

unit cell 000000 cel OO0
Ceo 0000000 [deg.]

No. | OO I Imuar | 1v | v | VI | VIT | VIII
1 | Axyz | A-1 | A2 | A2 | A-1 | A2 | A-1 | A1 | A2
2 Axy | A1 A2 A2 A1 O 0 0 0
3 Ayz |A-1] O A2 0 |A2| 0 |A1| O
4 Azxy || A-1 | A2 O O |A2|A-1| O 0
5 | Ay |A1]A2| 0 |0 |0 | 0| 0| O
6 Ay A-1 ] O |A2| O 0 0 0 0
7 Ay A-1] O 0 O | A2 O 0 0
8 |Bxyz || B1|B2|B2|B1|B2]|B-1|B-1]| B2
9 Bxy | B-1|B-2|B-2|B-1| O 0 0 0
10 | By |B-1| 0 |B2| 0 |B2| 0 |B1] O
11 | Bzxy | B-1|B2| O O B2 |B-1| O 0
12 Bx B-1B2| O 0 0 0 0 0
13| By |B1| D0 |B2| 0 |0 |0 |0 | O
4| B, |B1| 0 |0 |0 |B2|0 | 0| O
15 | Cxyz | C1[]C2|C2|C1]C2|C1)|C-1] C-2
16 | Cxy | C1]C2|C2|C-1] O 0 0 0
17| Cyy (C1 ] O |C2) 0 |C2| 0 |C1| O
18| Cyy |C1]C2| 0 | O |C2|C1| DO | O
9| Cy |C1]lc2| 0|0 |0 |0 | 0|0
20 Cy C1, 0 |(C2] DO 0 0 0 0
21 Cy C-1)| 0O 0 o | C2| 0O 0 0
22 | Dxyz | D-1|D-2|D-2|D-1|D-2|D-1|D-1]| D-2
23 | Dxy ||D-1|D-2 | D-2|D-1]| O 0 0 0
24 | Dy |D-1| O |D-2| 0 |D-2| 0 |D-1| O
25 | Dgzx | D-1|D-2| O O D-2|D-1| O 0
26 Dx D-1|D-2| O 0 0 0 0 0
27| Dy |D-1| 0 |D2| 0 |0 |0 |0 | O
2| D, |D1| 0 |0 |0 |D2 0| 0| DO
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unitcell OO OODOO cellOOO

Coo 0000000 [deg.]

No. | OO I | II | III | IV | V | VI | VI VII
29 | Exyz | E-1 | E2 | E2 | BE-1 | E2 | E1|E1| E-2
30 | Exy |B-1|E2|E2|E1| D0 | O |0 | O
31 | By |B-1| O |E2| 0 |E2| 0 |E1]| O
32 | Ezxy |BE1|E2| 0 |0 |E2|E1|0 | O
33| Ex |BE1|E2| 0 |0 |0 |0 |0l O
3| Ey |B1| DO |E2| 0 |0 | 0|0 | O
35| E; |B1| DO |0 |0 |E2| 0 |0 | O
36 | Fxyy | F-1 | F-2 | F2 | F-1 | F-2 | F-1 | F-1 | F-2
37 | Fxy |F1|F2|F2|F1| 0 |0 |0 | O
33| Fy, |F1| 0 |F2| 0 |F2| 0 |F1| O
39 | Fyy |F1|F2| 0 | O |F2|F1|0 | O
40 | Fy |F1|F2| 0 |0 |0 | 0|0 O
41| Fy |F1|O0 |F2|0 |0 |0 |0 | O
2| F, |F1| 0 |0 |0 |F2|0 |0 O
43 | Gyyz | G-1|G2|G2|G1[G2|G1]G1] G2
44 | Gyy | G1|G2|G2 G100 |0 | O | O
45 | Gyz |G1| O |G2| 0 |G2| 0 |G1]| O
46 | Gyy |G1|G2| 0 | O |G2|G1| O | O
47| Gy |G1|G2| 0|0 |0 |0 |o| O
48| Gy |G1| DO |G2/ 0 |0 |0 |0 O
9| Gy |G1| Do |0 |0 (G20 |0 O
50 | Hyyz | H-1 | H-2 | H-2 | H-1 | H-2 | H-1 | H-1 | H-2
51 | Hyy |H-1|H2 | H2|H1| O |0 |0 | O
52 | Hyy |H1| 0O |H2| 0 |H2| O |H1| O
53 | Hyy |H-1|/H2| O | O |H2|H1| O | O
54| Hy |H1|/H2| 0O |0 |0 | O | 0O
55| Hy |H1| O |H2| 0 |0 |0 |0 | O
56| H, |H1| 0O |0 |0 |H2|O0 |0 | O
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00000000000000 CeOUO0O00O0000O00000oooooooo (Co

0)0000
1 /%
2
3 0o ceonpoooooooooobooa
4
5 %/
6
7 #include<stdio.h>
8 #include<math.h>
9
10 #define PI 3.1415926535
11 #define Deg 0 25.5
12 #define Uncnct -1
13

#define Step 0.01
#define Norm 0.01
#define Max 30

static double atom0[60][3],bond0[30][3],mol[13][3],

atom[13][60] [3] ,bond[13] [30] [3],deg0[500],phi[5],theta[5],
vec1[3],vec2[3] ,mat1[3][3],mat2[3][3],mat3[3][3];

int cn[500] [13],0ri[500] ,num_mol;

[/ D0O0O0ooogogg =/

double LJpot(s)
double s;

{

double dx,dy,dz,r,c,p,pl2,p6,eps;

eps=1.293;

dx=vec1[0]-vec2[0]; dy=vecl[1]-vec2[1]; dz=vecl[2]-vec2[2];
r=sqrt (dx*dx+dy*dy+dz*dz) ; c=s/r;

p6=pow(c,6.0); pil2=pow(c,12.0); p=4.0%eps*(p12-p6);
return(0.5%p) ;

}
double COpot(qq)

double qq;
{
double dx,dy,dz,r,p;
dx=vec1[0]-vec2[0]; dy=veci[1]-vec2[1]; dz=vecl[2]-vec2[2];
r=sqrt (dx*dx+dy*dy+dz*dz) ;
p=14399.7584%qq/r;
return(0.5%p) ;
}
double calc_pot(n)
int n;
{
int i,j,k,cnct;
double p,scc,scd,sdd,qcc,qcd,qdd;
scc=3.4; scd=3.5; sdd=3.6; qcc=0.030625; qcd=-0.06125; qdd=0.1225; p=0.0;
for(i=1;i<13;i++){ if( cn[n][i] !'= Uncnct){
for(j=0;j<60;j++){
vecl[0]=atom[0][jI1[0]; veci[i]=atom[0][j][1]; veci[2]=atom[0] [j][2];
for (k=0;k<60;k++){
vec2[0]=atom[i] [k] [0]; vec2[1]l=atom[i][k][1]; vec2[2]=atom[i] [k][2];
p+=LJpot(scc); p+=COpot(qcc); }
for(k=0;k<30;k++){
vec2[0]=bond[i] [k][0]; vec2[1]=bond[i] [k][1]; vec2[2]=bond[i] [k][2];
p+=LJpot(scd); p+=COpot(qcd); } }
for(j=0;3j<30;j++){
vec1[0]=bond[0] [j1[0]; vec1i[1]=bond[0][j]1[1]; veci[2]=bond[0][j][2];
for (k=0;k<30;k++){
vec2[0]=bond[i][k] [0]; vec2[1]l=bond[i]l[k][1]; vec2[2]=bond[i][k][2];
p+=LJpot(sdd); p+=COpot(qdd); }
for (k=0;k<60;k++){
vec2[0]=atom[i] [k] [0]; vec2[1]l=atom[i][k][1]; vec2[2]=atom[i][k][2];
Y p+=LJpot(scd); p+=COpot(qcd); } } } } return(p);
[ D000 Od =/

set_cord(n,deg)
int n;
double deg;

{
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130
131
132
133
134
135
136
137
138
139
140
141
142
143
144
145
146
147
148
149
150
151
152
153
154
155
156
157
158
159
160
161
162

int i,j,nn;
double deg_rot;

for(i=0;i<13;i++){ if(cn[n][i] '= Uncnct){
nn=cn[n] [i]; deg_rot=degO[nn];
if (i==0) deg_rot=degO[n]+deg;
if (deg_rot < 0.0) deg_rot+=120.0;
if (deg_rot >=120.0) deg_rot-=120.0;
Y rot_r(deg_rot,n,i); } }

/* 0000 =/
initialize()

double a,x y z,r,dx,dy,dz;

int i,j,

char fllename[SO];
FILE fp;

a=14.10;

fp=fopen("m_cord.dat","rt");
for(i=0;i<13;i++){

fscanf (fp,"%1f%41E%1E",&x,&y,&2) ;

mol[i] [0]=x*a; mol[i] [1]=y*a; mol[i] [2]=z*a; }
fclose(fp);

fp=fopen("atom_typel.dat","rt");
for(i=0;i<60;i++){

fscanf (fp,"%hd%1E%1E%41E" &k, &x,&y,&2) ;

atomO[i] [0]=x; atomO[i][1]l=y; atomO[i][2]=z; }
fclose(fp);
fp=fopen("dbond_typel.dat","rt");
for(i=0;i<30;i++){

fscanf (fp,"%hd%1E%1E4LE" &k, &x,&y,&2) ;

bond0[i] [0]=x; bondO[i][1]=y; bond0[i][2]=z; }
fclose(fp);

fp=fopen('"mlcr.dat","rt");

fscanf (fp,"%d" ,&num_mol) ;

for(i=0;i<num_mol;i++){
fscanf(fp ”Vd/d/d" &j,&ori[i],&k); cn[i][0]=
for(j=1;3j<13;j++){ fscanf(fp,”?d” &k) ; cn[l][]] k 1; }
degO[i]=Deg_0; }

fclose(fp);

for(i=1;i<5;i++){

if(i==1){x= 1.0; y= 1.0; z= 1.
if (i==2){x=-1.0; y=-1.0; z= 1.
if (i==3){x=-1.0; y= 1.0; z=-1.
if (i==4){x= 1.0; y=-1.0; z=-1.
if(x==0.0 && y==0.0) phi[i]=0.
else phil[i]=acos(x/sqrt (x*x+y*
thetali]l=acos(z/sqrt (x*x+y*y+z
if(y<0.0) philil=-phil[il; }

*¥< OO0 OO
S e

’
)
)
)
’
) .
zZ

)
)

sprintf (filename, "deg_%003d.dat" ,num_mol) ;
if ((fp=fopen(filename,"rt")) !=NULL){
for(i=0;i<num_mol;i++) fscanf (fp,"%d%1lf",&j,&deg0[i]);
fclose(fp); 3
}

/* 0000 %/
rot_r(deg_rot,n,nn)
int n,nn;

double deg_rot;

{

int i,j,k,m,cnct;
double rad;

cnct=cn[n] [nn]; m=orilcnct]; rad=(deg_rot)*PI/180.0;
mat_rot_z( -philm]);

for(i=0;i<3;i++){ for(j=0;j<3;j++) mat2[i][jl=mat1[i][j]; }
mat_rot_y(-theta[m]); mul_mat();

for(i=0;1i<3;i++){ for(j=0;j<3;j++) mat2[i][jl=mat3[i][j]; }
mat_rot_z( rad) ; mul_mat();

for(i=0;i<3;i++){ for(j=0;j<3;j++) mat2[i][jl=mat3[i][j]; }
mat_rot_y( theta[m]); mul_mat();

for(i=0;1<3;i++){ for(j=0;j<3;j++) mat2[i][jl=mat3[i1[j]; }
mat_rot_z( phif[m]); mul_mat();

for(i=0;i<60;i++)

{
vec1[0]=atomO[i] [0]; vecli[1]=atomO[i][1]; veci[2]=atomO[i][2];

for(j=0;3j<3;j++){ vec2[j]1=0.0;

for(k=0;k<3;k++) vec2[jl+=mat3[j] [k]l*veci[k]; }
atom[nn] [i] [0]=vec2[0]+mol [nn] [0];
atom[nn] [i] [1]=vec2[1]+mol[nn] [1];

35
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163 atom[nn] [i] [2]=vec2[2]+mol[nn] [2]; }

164 for(i=0;i<30;i++){

165 vec1[0]=bond0[i] [0]; vec1[1]=bond0[i][1]; vec1[2]=bond0[i][2];
166 for(j=0;3j<3;j++){ vec2[j]1=0.0;

167 for(k=0;k<3;k++) vec2[jl+=mat3[j][k]l*vecli[k]; }
168 bond [nn] [i] [0]=vec2[0]+mol[nn] [0] ;

169 bond[nn] [i][1]=vec2[1]+mol[nn] [1];

170 bond [nn] [i] [2]=vec2[2]+mol[nn] [2]; }

171 %

172

173 mat_rot_y(d)

174 double d;

175 {

176 double c,s;

177

178 c=cos(d); s=sin(d);

179 mat1[0] [0]=c; mat1[0][1]=0.0; mat1[0][2]=s;

180 mat1[1][0]=0.0; mati1[1][1]=1.0; mat1[1][2]=0.0;

181 mat1[2] [0]=-s; mat1[2][1]=0.0; mati[2][2]=c;

182 %}

183

184 mat_rot_z(d)

185 double d;

186 {

187 double c,s;

188

189 c=cos(d); s=sin(d);

190 mati[0] [0]=c; mat1[0] [1]=-s; mati1[0][2]=0.0;

191 mat1[1][0]=s; mat1[1] [1]=c; mat1[1][2]=0.0;

192 mat1[2][0]=0.0; mat1[2][1]=0.0; mat1[2][2]=1.0;

193 3}

194

195 /+ 0000 */

196 mul_mat()

197 {

198 int i,j,k;

199

200 for(i=0;i<3;i++){ for(j=0;j<3;j++) mat3[i]1[j]1=0.0; }
201

202 for(i=0;i<3;i++){ for(j=0;j<3;j++){

203 for (k=0;k<3;k++) mat3[i]l [jl+=mat1[i] [k]*mat2[k]1[j1; } }
204 }

205

206 /+* DO0OOOOO =/

207 main()

208

209 int i,j,flg,turn;

210 double deg_rot,t_pot,pot0[500],pot1[500],dp[500];
211 char filename[30];

212 FILE *fpl,*fp2,*fp3;

213

214 initialize();

215 sprintf (filename, "pot_%003d.dat" ,num_mol) ;

216 fpl=fopen(filename,"wt");

217 sprintf(filename, "res_%003d.dat",num_mol) ;

218 fp2=fopen(filename,"wt") ;

219 sprintf(filename, "deg_%003d.dat" ,num_mol) ;

220

221 flg=0; turn=1;

222 while(flg<num_mol && turn<=Max){ flg=0; t_pot=0.0;
223 for(i=0;i<num_mol;i++){

224 set_cord(i, 0.0); potO[i]=calc_pot(i);

225 set_cord(i, Step); poti[il=calc_pot(i); }

226 for(i=0;i<num_mol;i++){ t_pot+=potO[i]; dp[il=(pot1[i]l-potO[i])/Step;
227 if(dp[i] <= Norm && dp[i] >= -Norm) flg++; }
228 fp3=fopen(filename, "wt");

229 fprintf (fp2,"turnj5d [%3d/%3d]\n",turn,flg,num_mol);
230 printf ("turn)5d [%3d/%3d]\n",turn,flg,num_mol);
231 for(i=0;i<num_mol;i++){

232 degO[i]+=(-dp[il*1.0);

233 if(degO[i] < 0.0) degO[i]+=120.0;

234 if(deg0O[i] >=120.0) degO[i]-=120.0;

235 fprintf(£fp3,"%4d %6.1f\n",i+1,deg0[i]);

236 printf ("%3d %3d %12.4f[meV] %9.4f[meV/deg.] %8.3f[deg.]l\n",
237 turn,i+1,pot0[i],dp[i],deg0O[il);

238 fprintf (£p2,"%3d %12.4f [meV] 7%9.4f[meV/deg.] %8.3f[deg.]l\n",
239 i+1,pot0[i],dp[i],deg0[il); }

240 fclose(fp3);

241 printf ("potential energy ( Ave.) %12.4f[meV]\n"
242 ,t_pot/(double)num_mol) ;

243 fprintf (fp2,"potential energy ( Ave.) %12.4f[meV]\n"
244 ,t_pot/(double)num_mol) ;

245 fprintf (fp1,"%6.1f %12.4f\n", (double)turn,t_pot/(double)num_mol);
246 turn++; }

247  fclose(fpl); fclose(fp2);

248
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249 fp3=fopen(filename,"wt");

250 for(i=0;i<num_mol;i++) fprintf(£fp3,"%4d %6.1f\n",i+1,deg0[i]);
251 fclose(£fp3);

252 }

00000000000000000000000000000 Ce,0000000 60
000000000000 (atom_typel.dat)d 3000 20000000000000
(dbond_typel.dat)0 00000 Ce OO0 12000 1000 Cee 00000000000
0 (m_cord.dat)000000000000000 NOO CeOO000000000 C30
0000000000 (mlerdat)D0 Ce 0000000000 (degN.dat)DDO00O

0000000000000000 (00000000000000000 Ce,O000
0000000000000000000000000000)000 (res.N.dat)0 000
000000000000000000000 (pot_N.dat) 00000000 CeO000
0000 (degN.dat)0O0O0O



